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import sys
sys.path.append("statlib")
from xtest import Cochran_Armitage_test

Cochran_Armitage_test(r_i, n_i, x_i=None, verbose=True)
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x_i = [10, 20, 30, 40, 50] # BEHONANNEEZTHOE
n_i = [30, 35, 47, 21, 45] # BEHODT—RAY
r_i [2, 4, 14, 13, 39] # BHORBT—RAH
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import sys
sys.path.append("statlib")
from xtest import Cochran_Armitage_test

a = Cochran_Armitage_test(r_i, n_i, x_i)

Cochran-Armitage test for linear trend
chisq = 68.573, df =1, p value < 0.0001

SHEHE L LT 4 ary v - 2a7 (CEBEERL) 249,

b = Cochran_Armitage_test(r_i, n_i, "wilcoxon")

Cochran-Armitage test for linear trend
chisq = 68.086, df =1, p value < 0.0001

c = Cochran_Armitage_test([2,3,2], [7,7,7], "wilcoxon")

Cochran-Armitage test for linear trend
chisq = 0, df =1, p value = 1.00000



